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Outline: Short Signature is literally “short cipher”. When we use Broadcast,
we control and collate about Safety or Certainty of

communication by digital signatures. Then Short Signature is the digital
signature which is useful and short style by using pairing encryptosystem.
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Advantage point : So to speak, digital signatures are equivalent to the sign or
the sealing of a seal in our life. If the signature in itself is too big thing, media
which Is usable the signature is limited and it is hard to use. it Is possible to
use various media if the signature is short one and keep safety.
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There Is a weak point which the time encryption and decryption do
take long time.Therefore we overcome by using various way which
make palring processing speed more high speed.
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In case of using arithmetical process, one variable can only use one
element and also it only calculate one element by one processing.
However if it uses bit process, it can substitute thirty two elements

to two variables, and also it can calculate thirty two elements

by one processing. It is reason why bit processing can calculate faster
than arithmetical process.
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